*HANSH
AV

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

01063273 HANSAMIX - Bidetova baterie

EAN: 4015474076105

static.hansa.com/01063273

Nahradni dily
SP01063273
Nazev Kod

1 Paka, L=87 mm 59914195
1 Dlouha paka, L=138 Chrom 01880076
11 Sroub, M5x8, SW2.5 59904755
12 Kluzné pouzdro (0sazené) 59904778
13 Zaslepka Seda 59912112

2 Krytka Bilé 59912639
2 Krytka Chrom 59912638
2 Krytka Zlata 59912640
3 0cni Sroub, M50x1, SW45 59904775
31 0-krouzek, d 43x2.5 59911166
4 Kartuse, 4.8 eco 59904601
41 Hot water limiter 59904759
5.1 Ovladaci tahlo vypoustéciho ventilu Chrom 59913033
52 Spojovaci dil tahel 59904624
53 Tésnéni, 37x48x3.5 59911422

55 Upeviiovaci deska 59904765
56 Sroub, M8x1, SW13 59904766
5.7 Upeviiovaci set 59910749
58 Hadice 59912709
59 Flexibilni hadicka, L=430, G3/8-M10x1 59912515

510 Tésnéni, 9.5x14.4x2 59912551

511 0-krouzek, d 7.65x1.78 59902337
512 Upeviovaci Sroub, M8x1, L=140 59912474
513 Sroubeni, 10xG3/8 Chrom 59912332

6 Aerator, M24x1 A Bila 59905419
6 Aerator, M24x1 STD HC A Chrom 59902366
6.1 Aerator, M22/24 A 59902081
6.2 Kulovy kloub 59910952
7 Vypoustéci ventil Chrom 59904620
N.I. Montazni kit 59913083
N Aerator, M24x1 (2011-) 59913739

1


https://static.hansa.com/01063273

